c R A F T Show All Your Working Out

Re-Teach

1.
Simplify \( 52 \times 573 \)

2.
Simplify \( 74 \div 772 \)

3.
Simplify \( (243)*2 \)

4.
Simplify \( 475 \times 4/{-2} \)

5.
Simplify \( \frac{6"8}{6"5} \)

Consolidate

1.
Evaluate \( 8M-\frac{2}{3}} \)

2.
Simplify \( 125{\frac{2{3}} \)

3.
Evaluate \( 16M-\frac{3}{4}} \)

4.
Simplify \( \left(\frac{27}{8}\right)*{-
\frac{2}{3}} \)

B.
Simplify \( (4a*4)M\Mrac{1}{2}} \div
(2a™M-2h \)

Master

1.
Simplify \( \sqrt{50} \)

2.
Simplify \( \sqrt{72} + \sqrt{32} \)

3.
Simplify \( \sqrt{12} \times \sqrt{27} \)

4.
Simplify \( \frac{\sqrt{75} - \sqrt{48}}
{\sart{3}} \)

5.
Rationalise the denominator: \( \frac{6}
{\sart{3}} \)




Answers

Re-Teach Answers

1.
\(572+3} = 545 = 3125 \)

2.
\(7M4-2} =12 =49\)

3.
\( 273 \times 2} = 216 = 64 \)

4.
\(4MB + (-2)} = 473 = 64 \)

5.
\(67{8-5} = 673 =216)

Consolidate Answers

1.
\( (273)M-\frac{2}{3}} = 273 \times (-
\frac{2}3})} = 2M-2} = \frac{1}{4} \)

2.
\( (B*3)M\Mrac{2}{3}} = 5A(3 \times \frac{2}
(3)} = 5r2 = 25 \)

3.
\( (27 )M-\frac{3H4}} = 24 \times (-
\frac{3}{4})} = 2A[-3} = \frac{1}{8} \)

4.

\( \left(\frac{3"3}{2"3\right)*{-\frac{2}{3}}
= \left(\frac{3}{2}\right)"{3 \times (-\frac{2}
{3h} = \left(\frac{3}{2}\right)"{-2} =
\left(\frac{2}{3}\right)"2 = \frac{4}{9} \)

5.
\(\sqrt{4ar4} \div (2aM{-2}) = 2a’2 \times
\frac{1}{2aM-2}} = aM2 - (-2)} = ard \)

Master Answers

1.
\(\sqgrt{25 \times 2} = \sqrt{25} \times
\sqrt{2} = B\sqrt{2} \)

2.
\(\sqrt{36 \times 2} + \sqrt{16 \times 2} =
6\sqrt{2} + 4\sqrt{2} = 10\sqrt{2} \)

3.
\(\sqrt{12 \times 27} = \sqrt{324} = 18 )

4.
\( \frac{5\sqrt{3} - 4\sqrt{3}}{\sqrt{3}} =
\frac{\sqrt{3}}{\sqrt{3}} = 1)

5.
\( \frac{6}{\sqrt{3}} \times \frac{\sqrt{3}}
{\sqrt{3}} = \frac{6\sqrt{3}{3} = 2\sqrt{3} \)
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